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22 AS3HE S S5 CHR0{0F & O[Tt Of7|0f|A ZBE Z2J2iU0| 25 HEHS it

CIof5t 90| AHRE HSH= LA 2| T2fet ) BlOJEIQ| 3 ZROICE BB AR T|AL, 2, A2,
227, AIAEITHO|LL REH S0| ZE0} 20| AN ARS0| 45t 2 EE Wat2 THECE 2N
Ol2{2t 228 0|25 ElOISQ) HEhot £, SA 72, 24, 20 5019/ i S HAS| L{ZE of2
Q012 EX42 BOILIN EAGICIE of2] S0|22 ZE U 4 US HoIC T 0] ZOIME 71y
205K 4901 T0{o] ALG FEE 74| 1 IO 2 128 0|85HEA IS AJHstnAt BTt

|-.1>

SH20] Y2X|= A ZEZ0Q R EO| L2 2|2t KLUE benchmarkE ZH510] LISt 7HE 23 E S5
2 4 UCL O UBA = ELS 24 7152 ZRISHA| Y= HIAE OO 1 AA[O|L, TR 22| 2

=AMZ HLCHHEE|SHA| SH | TloH csv, json, xml 52| FAI0 2 L2 51E|0f QIC}, ZH FAILS EXSH 20| w2}
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A [0 1] TEIOYH|IZEHE DSA(H 1.1)"2 THU G| Al

[ 1] 2 ZEI0| Y 25| USTX|0j|M i Eot= ‘TEH =02 HIZTHE BSA(HA 1.1) 0| Z&E 2 S
SILIE HAISt Z0|C}, 0| S| = CHSO| 2Hst 27|, HZ|, 28, Z4E S2| 22 20F #1445 Z0|H, = &
HO| 5tLte| xml T 2 2|0 QUCH THAOCH xm| 28H0f| (2 E} 1S 0| 23HA] T B3 (file id), 22|
S (category), A|= (title), A&t (author) S2| HEf HHeL Z2| EF (text) S 2| FHO = HAISHLL
UL}

import xml.etree.ElementTree as ET

tree = ET.parse('=2=0{Y HEHS YSX(HH 1.1)/WDRW1900310761.sjml")
root = tree.getroot()

nfo|4d 20| = 2{2|F 0|85HH O|2{et 25 A2 2 EM5t0] Hot= FH2 YEE F&28 + UCL OIS
=0 xml Tt 20| M = THo|Mef xml 2(0[E22|E 0|83l 2 Ei1 FHO| 20 U= EE [MRIZ
FEZ 7 ULL I ZE= xml 22 2GR0 U= TS T4610] E2| 22 2 F= 7IS= STt
O|Z 0|83l CtE ZE8f 20| O] mHof| FAE|0] U= HIEt HE F EHS O ol AAte| Lto], dE, 2IYUS

FE0 =+ UL

for meta in root.iter('author'):
if 'age' in meta.attrib:
age = meta.attrib[ 'age']

if 'sex' in meta.attrib:
sex = meta.attrib[ 'sex']

if 'occupation' in meta.attrib:
occupation = meta.attrib[ 'occupation']

print (age, sex, occupation)

US| ThY Qtof| Kol=l Ef19} ‘age’, ‘sex’, ‘occupation’ 2| 44 HEE 0|2510 2| 22| AHA7H17A|

ot 4929 =22 (text)2f (p) Ei1 S22 7|0 Q2B 2 0|F 0|83l F=Z3trt.

text = []
for p in root[l].findall('p'):
t = p.text.strip()
if len(t) > 0:
text.append(t)
else:
for s in p.findall('s'):
t s = s.text.strip()
text.append(t_s)

O[22 23t B AEO CIOY3HUIHO| S4] WIS B3 4 /Lt 02 SO| HAES HEfA EI9I2 LD
ZHSENAC| ARS FAHS RS & 4 U ZOICE THO|M EHO0A 101 HERA 2412 43S A2, konlpy



ojmf Zate| HHS “10CH OISt 20CH, 30cH, 40CH, SOCH, 60CH Ol2| 674 I&22 L1, 2t JE0
oligdSt= AAS0| F2 Of™H AE ALE5IH 25 AdA=AIE Mo & = UL

Lt ZE= 20M| 02| A2kES 100 Olstets OAEL2 |11, 0| AE0 sHEEl= AASS| HAE

DEOM AMEE BAE S 7HE 7t =2 =AUR 100E %3_ 10|Ef EAMEHE 219, AIRZE,
"Or, Y, AW, N, AR, e, Ok 0] SEEC). O|unff 2 HEf A HO| =At= ol YEH A7 100 0I5 P
AA=2| %OHH AP%EJ = EE_HZF

for x in df.iterrows():
age = int(x[-1][3])
if age < 20:
age 10 += x[-1][-1]

Counter(age_10).most_common(10)

[('ZE+', 18220),

L = _ - e ('"AlZH, 13908)
konlpy 2t0|E2{2|0f|A A|Z3t= HEflA EA7(0 RIAES U510, 2 JEfALL 0] sHHSH= BAE CE, '13436) : ’
Zutz 32 5 ULt ('gok', 13376),
('Y', 13216),
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— 1Lk
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- DSs 17 Wr|  [RsOE M, O Il 52, M FE), B LS, Hel, .. 2 (&,3359 (& 2141) (OHZ,408) (oh 191) (E,117) (&, 450)
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4 M ZSHM 6 YJ| [Qf, KA, ME, BR|, ZE2A|, HT, 240, ofs, ok, HL|, £
4 (¥,3304) (O3, 1922) (&, 348) (AlZt, 145) (&, 90) (AlZt, 345)
10742 F 25 25 RIS, BX, EX}, 9, 22, 2, 2, 03, &, 22+, 2724 Al7,... 5 (M,3160) (®,1907) (0K 295) (OFE,117) (OK3, 84) (£, 290)
10743 F a4 15 47| &S, &, ol Y, o, dot, MY = T, AH, 05, AlE, .. 6 ( , 2958) o 1787) (APE,F, 285) (5,110) (—'.Z-. 79) (‘a‘, 285)
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b b I
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10746 F ZS8 5 Y7 [4, Z, L2 8, B, 8, &, AT, A2s0], 97|, &, 233, ... 8 (8t,2332) (&,1561) (XI7,278) (KA, 99) (KR, 76) (OIS, 253)
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from wordcloud import WordCloud

wordcloud = WordCloud().generate from frequencies(Counter(age_10).most common(1000))
plt.figure()

plt.imshow(wordcloud)

plt.axis("off")

plt.show()
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